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1. Expand the following base power44

(i) 64 (ii) 1296 (iii) 1024 (iv) 256 (v) 1
2. Expand the following base power4'3

(i) ! (i) = (iii) - (iv) : (v) 1
64 343 256 16

3. Expand the following base power(—3)5

(i) 6561 (i) 729 (iii) 81 (iv) -243 (v) -7776

4. Expand the following base power(—4)'5
(i) (ii) ! (i) ( 1 ) (iv) -1 (v) ( 1 )
" 2006 " 256 " ‘1024’ "V V' 19776

5

3
5. Expand the following base power( 4 )

729 . 243 . 3125 . 81 1
(i) (i) (iii) ——— (v) — (V) ——
4096 1024 1024 256 1024

-4

2
6. Expand the following base power( 3 )

0 22 6 S o 2w 2
32 16 256 8 128

4

-3
7. Expand the following base power( 5 )

W 22w %2 o 2o L ow Y
| 32 I 16 1 16 \Y) 16 Vv 8

-4

-1
8. Expand the following base power( " )

. .. ... 256
(i) -1024 (ii) 256 (iii) E (iv) -64



9. The value of32 +(-2)3

(i) 4 (i) 0 (iii)) 1 (iv) 2 (v) -2

10. The value of5'3 +3'2

2
- L, ( 134 ) i) 134 0 44 136
[ I 11 v \
1123 1125 1125 375 1125
3 3
11. Thevalueof(s) +(-_1)
2 2
2
M > G 2 i 31 () (31) v
2 2 2 2
-2 -3
12. The value of(-l) +(-_5)
2 2
2
98 492 494 492

() 55 () o5 G o0 M4 0 (150)

13. The value of(-4)2 —(-2)3

(i) 24 (ii) 23 (iii) 26 (iv) 22 (v) 242

14. The value of3™3 —(-4)™3

2
91 .. 91 91 , 89 31

W 1726 (i (1728) (i) 1728 v 1728 Y 576

2 2

15. The value of( : ) —( : )

(i) 1 (i) 0 (iii)) -2 (iv) 3 (v) 2



16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

The value of(;) —( 3 )

(0) (_—209
98

The value of43 x (-2)

(i) (-512)2 (ii) -510 (iii) -513 (iv) -512 (v) -514

The value 0f3‘2 X (-2)"

-2

) iy (220
100

-2

)

3

2

-2

=207
(i) (-

-209

2

i) 3771 iy 3671 (i) 381 (iv) 3371 (v) 3672

¢

Find the value of25

)

() 128 (i) 123 (i) 125 (iv) 124 (v)
3

| (3)

Find the value of16

(i) '1 (i) '1 (iii) ('_1) (iv) '3 (v)

| 62 I 64 11 64 v 64 \Y
0

(94 o510

M 1 () o Gii) 4 (v) 2+ a™) (v

18=

() 1 (i) undefined (iii) ® (iv) -1 (v) O

_13=

() -1 (i) 0 (i) 1 (iv) undefined (v) o

10=

() 0 (i) -1 (i) 1 (iv) undefined (v) o

00=

(i) -1 (i) undefined (i)  (iv) 0 (v) 1

70

() 1 (i) 0 (i) = (iv) undefined (v) -1

126

(-2)

) (V) () W 21
100 100 100



27. 03=
(i) ® (i) 0 (iii) -1 (iv) 1 (v) undefined

28. simplify 51 +3%+ 61481

" 59 (i 279 i) 293 i) 307 W 291
8 38 40 42 40



Assignment Key

1) (iv) 2) (i) 3) (iv) 4) (iii) 5) (ii) 6) (ii)
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